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HR3—2 BEWICHERTHLEESNDIERCETHEIE (1/1) _ _ [ 5&5E | TRicEE
SEROME | #mES | 023a1002 B \ BRAUR—2 | e [ ABETRREURE 18 E]
) AR O T inICHEET 51 i SUERIHRA
ﬁ;&g TREFOBBOSILENDKES TEFEOHBESILIOKRES TREOBBOSILHDKES TREDHBSSLADKES
= X 4 B | FTwALD R ADKRES K 4 T LDKE [ B ADKRES X 4 B | LA LDEE ADKRES X 4 LTighontkE | & ADKES
(m) (m) (kN/m) 26 Bt (m) (m) (kN/rri) (m) (m) (kN/m) (m) (m) (kN/rri)
15 100kN/mM%Z#B% % -l -~ = -|3m%EEZ S -~ = = -| 100kN/ Mm%z 5 = = ~ = —-|3m%Ei#B2 5 =~ - - -
ZHLUS 1.00/ 000 ~ 344 50.88| #nLis [0.00 ~ 3.44| 1.95 8.58 Zh st 1.00 500 ~ 500 50.88] #hLlst | 500 ~ 500] 1.95 8.58
18 100kN/m%Z#BZ % -l -~ = -|3mZBzE| - ~ = - -] 100kN/mM%E#Z% = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 3.95 58.08] #hklst | 000 ~ 395| 1.75 7.72 ZHLS 1.00] 500 ~ 564 58.08] #hLlst | 500 ~ 564| 1.75 7.72
17 100kN/m%Z#BZ % -l -~ = -|3mZBz3| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00|0.00 ~ 3.60 53.14] #hilst | 000 ~ 3.60| 1.79 7.89 ZHLS 1.00 500 ~ 501 53.14] Zhils | 500 ~ 501| 1.79 7.89
18 100kN/mM%Z#BZ % -l -~ = -|3mZBz3| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 359 53.00] #hilst | 000 ~ 359| 1.77 7.78 ZHLS 1.00 500 ~ 500 53.00] #hilst | 500 ~ 500 1.77 7.78
100kN/m%Z#BZ % ~ ImERBZ B ~ 100kN/mM%Z#B% % ~ ImEBEZ D ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%Z#BZ % ~ ImERBZ B ~ 100kN/mM%Z#B% % ~ ImEBEZD ~
Zh Lot ~ Zh st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ ZhLst ~ ZhLst ~ Zh Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ Zhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ FhnLst ~ Zh st ~ Zh Lot ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ FhnLst ~ Zh st ~ Zh st ~
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEEZD ~
Zh st ~ Zhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ FhnLst ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ FhLst ~ Zh LS ~ Zh s ~
100kN/m#%#BZ % ~ 3ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZHN LS ~ ZThLLSE ~ FHLSE ~ T IO0)) ~ _
=FR



